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NEPEYEHDL KOOPIMHAT XAPAKTEPHEX TOUEK KPACHEX /M
Homep
Imouku KoopguHama X KoopguHama Y
1 X = 514119.1713 Yy = 1356054.4273
2 X = 514110.1222 = 1356063.0875
3 X = 514084.8477 = 1356084.8118
4 X = 514079.0995 = 1356090.6100
5 X = 514046.2230 = 1356128.2454
6 X = 513980.9384 = 1356203.9927
7 X = 513958.9229 y = 1356228.1660
8 X = 513942.9071 y = 1356213.1407
9 X = 513965.1976 = 1356188.6208
10 X = 514030.4603 = 1356112.8958
" X = 514063.3154 Yy = 1356075.2803
12 X = 514069.0633 = 1356069.4847
13 X = 514091.7655 = 1356049.8086
14 X = 514094.3595 = 1356047.7379
15 X = 514104.0059 V = 1356038.4907
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